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AP State Level Police Recruitment Board
S|, RSI, Deputy Jailors Preliminary Written Test

Paper-I
Held on 16.12.2018 Booklet Code : A
Time : 3 Hours
Marks : 100
Instructions :
(1)  Each question carries one mark.

(i)

B8 BHH wf Se6y, Sedo.

Choose the correct or most appropriate answer from the given options to the following
qQuestions and darken, with blue/black ball point pen the corresponding digit (1), (2), (3)
or (4) in the circle pertaining to the question number concemed in the OMR Answer
Sheet, separately supplied to you.

B3 adyd B8 P alwhs TOS KBS HirFIsu JNFI I Srdod
©og (1),(2), (3) B¢ (4) 3o 20y OMR S8r5e8 Higg oo’ D5 Donododd dovghe
SYE) w3/erE erd rono D) HHARFAD 0BS5S,

3
Let the sum of 3 numbers be 13680. If the first number is 3 of the third number and the

ratio between the second and the third numbers i5 4:7, then the first number is

' 3
Dot Sopge Bngo 13680 @rsvomro. FudB3dong SirdSdonges® 3 3 Soda Hobada

Bo&s, S Hopge I8 4:7 wond, Foded vopg

(1) 3,600 (2) 3,780
5 .
(3)p 4,280 @) 4,800
N ‘ ' =t

L1l

A boy distributes chocolates among four of his friends in the ratio 323 g The

minimum number of chocolates this boy should have, in order to do this distribution is

1111
13456
R S e
BoHKedms u wread 3¢ ﬁodé;ﬁe;?@é_%%‘& Bopg
(1), 60 2) 114
(3) 57 4) 54

28 wready 98 oo o, —i—i-i— IRES” TERN dowrdo. & RS

—————
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3. Aperson gave -2- of his property to his elder son and 30% of his property to his younger

son. He shared the rest of the propert

y among his three daughters in the ratio 3:5:2.1f one
of his sons got Rs. 20,000 more than the other, then the largest share a

mong the shares

of the daughters is
(1) Rs. 18,000 (2) Rs. 22,000
(3) Rs. 24,000 (4) Rs.30,000

: g
€ 558 63 WS DESITHES S Sod DO DYSBPES 30% 2T 20O

w0 wdd Snkd Sirgos 3:5:2 AYPBS' Hod Q. VS _§o;ﬁ:°d)e)e5‘ w8,
B0&50808 &, 20,000 289, FobE, HErT0 Tirod” VRs T

(1) &. 18,000 2) &». 22,000
(3) &r. 24,000 4) &= 30,000

4.  The ratio of the present prices of two bycycles is 2:3. Two years later, when the price of
the first is increased by 15% and that of the second by Rs. 475, the ratio of their prices
becomes 3:5. The present price of the first bycycle in rupees is

Todo P8¢ BRG Sdo IR 2:3. Toch DoSHES0e SHTE, G Do §§ 15%
0R, Bods Plen §O G 475 DOAB, 8 8o IRPG 3:5. 306 Plen HXE &Y
Eriee®

(1) 1090 (2) 1120 (3) 1140 4) 1280

5. Ifthe difference between the yearly compound interest for 2 years and simple interést for
3 years on a certain amount at 10% per annum is Rs. 1080, then that amount (in Rs.)is

28 A/ Fooyn H058)0°08 10% TR, 2 Dod&yored 53 T8 W858 Sovosw
W& 53y er38 o Béo &r. 1080 ©ond, w Ry (Errashes?)
(1) 10,260 |

@ 10,800

(3) 11,400

(4) 12,000

i
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A person borrowed some money for simple interegt and the interest paid is i“’ of the
: " 9

prinepal, I the magnitudes of the mterest rate and the time period are cqual, then the
]

TR ot interest per annum is

S¥ 338 Foo NI ‘:J"‘\'5335§§ Seom é"m&a*fb S0B0%0 wéh BOoDS 58, wdeud*

4 = w o
3 B0, 338 Hodak Fo Sg¥e 0Sreswe H5rS500E, T8¢ 5§30

(D h_::n,;. . @) 8-:1;%
- 1ﬁ 1 Q- 29
L_\L ...E 40 . (4) 16'5 A}

-]
»

A person borrowed a sum for simple interest at a certain rate for a period of 3 years.
It he has taken it for 2% higher rate, he would have to pay Rs. 720 more. Then the
sum (in Rs.) borrowed by him is

25 35§ S0 Sy 3 So3Tre Fosnsth 28 IJH TS rHSE8 Hrom Sk,
e8P S TR0 2% B D Ted SWEFR 08, s dr. 720 I8y S BYosSed

SHB. sond S Heom W) 500y (Srn0s’) q: -
(1) 12,000 (2) 10,800
Gl 9,600 4) 6,000

Sunil borrowed Rs. 25,000 from a mone)‘; lender at 20% compound interest per annum.
At the end of each year he repaid Rs. 5,000. The amount he still owes to the lender after
paying three such instalments is (in Rs.)

28 5§ 530 S0 WIS J05)TI8 20% ESES" &r. 25,000 Levorr oo,
B8 BosdTodos® wsdh &= 5,000 85A Bowd. verol TonTro Srdoldd
BO0DS SHard @SS SGTgr08 Qossr BYosHods 3ndo (Eroc?)

(f 25,000

2) 22,500
(3) 21,600
4) 20,000
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: ¢ to be pressed in gy
writer hav 4
9.  The number of times the number-key buttons of a tyP°©

to type the first 300 natural numbers is . 55 20,65% Hogrg-b alyg
IEB SrdrSose Gie dopgo 85 BEFI XS "

5‘52;;60?%365 éc"goﬁj.ﬁwe éong

1) 792 (2) 684
(3) 762 @) 300 _
. ero) digit in the product of
10. The number of zeros occurring after the last significant (nonz )

75x60x48x35%x30x24x18x10%5 is y B
75% 6048 X35 X 30X 24x 18X 10X 5 ogos* 50 @a0mgdne (drBg88) ©08 Sdhng
5% Do dowg

(1) 3 2) 6

3) 7 4 9

11. The sum of the distinct primes that divide 5400 is
5400 &0 Ao PN BTS JoPgo Soodo
(1) 10 (2 15
G (4) 28

12. The number, among the following, that divides 72— 224 is
Eod TRe*, T12- 24 &mROT DM
1) 32 2) 33
3) 34 | 4 35

—— S

13. The average age of two sons and their father is greater than the average aoe of fhe W0
sons and their mother by 4 years. If the average age of thege fiyy persoﬁs i g19 ears &1
the average age of the two sons is 6 years, then the ratjq of the ages betv:'zen 3{16 fathet
and mother is _

438050 8 Sod D) DKL Sy _
QL onT e ) b By, e GG So8rdres 555050 0
S @) Diftn 500w $0B 4 DoBT D I8y 5. o 5068,

Sg80 g, G
Safiy 19 SosQoe A Do), Hefex :aosa“mj 6 %03 ’ 0%
e So\d %oB030 &9 D08, 500090 NG 0T ®
(1) 19:13 2) 18:17
(3) 17:13 “4) 16:13

§l | e
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The average weight of A, B, C is 84 kg. If D joins this group, their average weight
becomes 80 kg. If another man E who weighs 3 kg more than D replaces A then, the
average weight of B, C, D, E becomes 79 kg. The weight of A (in kg), is i

A, B, C o gy #it b 84 8.07. 206° D Bo555c a6 w5 0 80 &
whSr08. D €08 3 8. A5S 28980 E ey 068 958 A S weor 30) B8
B,C,D, E e %7 g0l 79 8., wHEd0a. SELS A &g 2ty (8 rsnus®
(1) 68 2) 72

3By 75 4) 80

Mtrader bou ;: '

"":sb
ey for a(smﬁf Rs. 7,800. He sold the first one at 4% profit and
atdSs Later he found that each cycle is sold for the same price. Then
.) of that cycle which is sold for loss is

the second ofje o
the cost price (i ‘
wf Sgard 6. 7,800 8 2 284y Bano. o8 Fodd oA 4% orefos o, JodS AN
9% $Z0&° % donowdy. e EGd ©dd (B8 DS wFES eIy Hhgowd.
©on3 S8 &53;%%:6 085 Cﬂﬁg& §°5ﬁl §?édalloé‘)

(1) 4,560 —2) 3,240

(3) 4,160 (4)e 3,640

\

16.

-
A person sold an article for Rs. 144, thereby gaining a profit perdgni__gqqall L%l cost
price. Then the cost price of that article (in Rs.) is

2§ 538 2.8 5539 &r. 144 05 wido o, FHBosH MRS «BIEIY) oo,
wond u 553 g FH3e (Eres?)

(1) 64 2) 75
(3p 80 4) 9%{l

[ ]

= - — 7
,1/ The cost price of a pair gf shoes is Rs. 800. Its marked price is Rs. 1060. If the shopkeeper -

suffered a loss of 12% in the festival sale, the approximate discount percent he offered
was

2§ arly 28 BHRe 6. 800. o RE8E Jo & 1060. S0t JEdires” Kisnmrd$t
12% 830 58, @85 adys ddnoks T80 6?_6_3_3{7--

(1) 362 - Q 16

(3) 32 4) 26

7-A
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18.

(3) 240 . ) 310

Zﬂ Booklet Code :@

5% loss, and R sold it to g ¢
of that article (in Rs.) is

P sold an article to Q for 25% profit, Q sold it to R for 1
20% profit. If S bought it for Rs. 204, P’s purchase price

59 SR8 W, R aay

Pag 55998 Q8 25% orgfos® wansH. Qwdd RS 1
% BH3e (Eries’)

S8 20% ergrd8 ©Bo)s. STA &, 2048 Fod, P e 50
(1) 160 @) 175

If a reduction of Rs. 3 is given on an article and sold it to Rs. 42 then the percentage of
discount allowed is .

o S50 . 3 610, 0D 6. 42% wlo@, T FYS B0E 7o
1) 14 @ 9

1
G 85 ()g 65

After allowing a discount of 20% on the marked-price of an. a[ticle, a shop keeper makes
a profit of 12%. What percent is its marked price above its cost price?

28 BTl af S5 B, EESE 3o 20% 80tk vK%B0NS ST,

| 12% overd) Fodoeth. wond & FPe §0B, A 58830 Jod TEo wige?

(1)b 40 (2) 32

(3) 25 4) 16

2]

A train of length 180 meters ‘moving with uniform speed crosses a telephone pole in
18 seconds. Due.to detachment of some coaches, its length is reduced to 150 meters.
Now the time (in seconds) taken by this train moving with same speed to cross a bridge

of length 120 meters is
NEErH3K0&’ woSredod 180 baéag T fde w8 Do wod wul BOYS Hoerd)
18 285 mrendol. RS ) DBoo Fofowm ol 28 150 Dts s L8088 0d.
w8 3ro8® & Beo w0d 120 D&Y FEY Ko Foass TLTIE 58 é;aoﬁao (g
(1) 27 ‘ | @) 25

Gy 22 f @ 15
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In a 100 meters running race, if A defeats B in 10 meters 514 gefeats C in 28 meters, then

in how many meters B defeats C?

100 Dotog HotH HoBos® A, 10 &8 8as* By, 28 Dig Ford® € 8, Cd BAYy
W8 BT LERE? )

(e 18 2) 20

@ 24 ) 30

28

A certain number of men will complete a work in 60 days. If 8 men join them, it will be
finished earlier by 15 days. How many men were there originally?

508508 Jden el HAA 60 Swrod® Wohrked. 56 8 %008 Do 708 07,
& 53 15 Feren 500 MR Y 9908, ©owd Indh &8 HHhde dopy J08?
(1p 24 ‘@) 22

(3) 20 4) 18

24.

12 men and 16 women can do a piece of work in 6 days and 15 men and 30 women can
do it in 4 days. The time (in days) needed for 6 men and 12 women to complete it is

12 5008 JHSHHoe, 16 08 @m 2,8 HAN 6 Bwreds’ B S0805» 15 H0d Hddven,
30 o006 lfope:o 03 I3 4 Fres® Fohred. 6 H HEDw, 12 KHod Eonw @0 HIQ
0 WeHE§ Hiy sodn (BSwes’)

(1) 14 2) 12

(3w 10 ) 9

25,

e —

Chandu takes twice as much time as Avinash and thrice as much time as Satish to finish
a piece of work. Chandu started that work and after 2 days he left it. The time (in hours)
needed for Avinash and Satish to finish the remaining work together is -

5088, & S BHFTIE VITEE Histerds Bod Y %5050 So8050 HHR8
Hinzerdd S B8 BoHo Fard. Fok & A Wrdodod, o Fare Sdhard
© 52 %008 JEDomd. DA 3D VITE Sypoke H8Teo PV Tl Vabwds

Hesrosn (Hoo )

W 2%z Q)
® 23 @ 1

- 9-A
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ours is

The angle between the two hands of a clock at 9.40 h
9.40 SoLrod KAESTE0s R Dok Sweve S06gEe00

(1y S0° _ (2) 88°
(3) . 75° @) 68°

—

The hands of a clock point in opposite directions between 4 O’ clock Te}mcl 5 O’ clock at

4

(1) Sﬁﬁ minutes past 4 O’ clock
6

(2) 54'1"1- minutes past 4 O’ clock

4 _
(3) SOH minutes past 4 O’ clock

(4) 45 minutes past 4 O’ clock |
4 fobren $o8as 5 Kobre ey KBO3rE0e5 R Swenen S¢&08 87 GoBI Sdoodo

4 ' 6 '
(1) 4 Hdoboe 56“{{ RV ARVOE (2)e 4 Hoboo 54'{{ FUSVOECRARISEN
4 _ Sl | -
(3) 4 fobre 50— QSRS 4) 4 ﬁoéae.45 RSV M ISES)

11

If the English new year day of the year 1991 was Tuesday, then what day of the week is
26" January 1998?

(1) Sunday (2) Monday

(3) Saturday (4) Frnday

19913 $ode)00e” wol SreS Josg)d ddo Dofdardo sond, 26 w556 1998 da
T80 Q o ¥Hod? - ol

(1) ©8ado Q) Fmede

(3) #3780 8 (4 HETS0

e A T ST 1
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A

297" A and B started o business with investments i the rati 425, Afrer 3 months, A withdrew
25% of his capital and BB withdrew 20% ol s eapital, 17 e profit at the end of the vear
is Rs. 9000, then Bs share of the profit (in rupees) js

A 500080 13 @0 4:5 htedio MQPE' o8 3oy doponrd. 3 Joe Shad,
A w8 igod Sood 25% $o0akn B 08 1ined fod 20% 33§, ddosoanb.

Rodgorodos® SIS ergio & 9000 Wy, ovgost B gy, oo (Sordraoc?)
4200
(3) 4800 (4x 5100

(1) 3600 @)

;,9./ A, B and C started a business with capitals that are in the tati@§:9:10. Atter 3 months 13

_ ! 1 ,
contributed another 3 of his capital and 3 months there after, C withdrew 3 of hisl=

capital. In the annual profit of Rs. 2,37,300, the C’s share (in rupees) is

A, B, Cen 8:9:10 “{);’1‘)@6‘ &) _"oaégmcé.m@“ &8 TgIoR) (FdoDoT . [ [Joo

1
g8 B od ’o)é.mmm&eS‘ 7 ¥ P08 I wESom DHErGHT, ¢ SHITE AL Rl

3

1
U C 65 piguas’ < 8 Soi Bngy) 3G, Sktmm. SoSgmoy oS

WWO 5%, C ot (Ernes®)

(1), 83,700 9 3}3(30)& %t—:i( ) 81,600

3) 75,600 ‘ (4) 67,300
3. 1f 45— 40D =24, then XF=

4%~ 46-1) = 24 wond, (2x) =\

(1) 35 Q) 2

(3) 45:’2 (4) 55!2 ;
55 18—[5~6{6+2(7—8_-_§)H=

1 7 , @) 79

102

3 97 (4)
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33, 55.005+0.0155+5055.05555+50.150-59.91319-5100.31286 =
(1) 5010.31286 (2) 5011.28163
(3) 5100.31865 @ 0
5 e o
34. The number of ordered pairs of positive integers having 30 as their L.C.M. 18
300 825, m SRS &S yrgod ESoosorme Vowg
() 30 (2) 27
(3) 20 4) 15
35. The least multiple of 7 which leaves the remainder 4 when divided by each of 6, 9, 15
and 18 is
6,9, 15 5850 18 0&* HPATIS D erAoDSDYE 4 50 Fdom o) 7 A, Mederod®
8y Jopg
(1) 182 (2) 350
(3) 364 (4) 455
36. The sum of two positive integers is 594. Their H.C.F. is 33. The number of ; palrs of such
numbers satisfying these conditions is
B0 ¢S Jraroste 3ngo 594. 8 K.r.er. 33. 6 AohSreosd SRS K:os;vgotinmém
Qog
1) 2 P Gl G) 4 @ s
4 20 8 36
37. The greatest value of & such that cach one of the numbers —,— == s
g 3 42k 6k 2 g B
integer is
4 20 8 36
— 05 D8 2.8 8 ool
o ak ok gk O ©8 #8E Frgoso edkginod ko, Koy dens
4 4
M 126 @ 3
+ 4
i A —
G 3 @ -

___‘ _—
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AC is the diameter of the circle and is a diagona] of the quadrilateral ABCD inscribed in
it whose sides are AB = 30, CD = 10, BC =40 units, Then the arca (in sq.units) of that
quadrilateral is

AC &35 w8 S)Bin G, srghder 200650 ©8 AB =30, CD = 10, BC = 40 chrabdd

goereom §OA, & HFod’ @oég@oéa}&é iﬁéadaq‘)aao ABCD &) DEES0. @536
© S @Y, ITogo (¢5.0%0.065°)

(1) 1200 | ) 2005
(3) 100 (6+v6) @) 100 (3+43)

39.

A circle is inscribed in an equilateral triangle. If the area of the circle is 462 cm?, then the
perimeter of that triangle (in cms) is '

28 DEerdv (@b’ . Syfo wodBPosadod. & 5)E ITogo 462 5.7200.00 ©oNd,
& Lé'ée.ﬁ:aaéw Boog), HENFoS (Po.N.08)

(1) 196 @ 12

3) 132 (4) 126

40.

———

41.

The length, breadth and height of a room are in the ratio 3:2:1 and the sum of their :
dimensions is 18 meters. If the walls and the ceiling of this room is to be painted at a rate-
of Rs. 15 per Sq.meter, the expenditure involved (in Rs.) is

L8 KB Gng, FE, Dben) SO o 3121 YIS eayo $pc35trs Fose
Fodo 18 Bobath., & KB @ Ades $o00kn pEEyRoct)et SEEY DLk
15 o> Blao 538 o Towoads edog P8Y (Gris)

(1) 1350 (2) 1840

(3) 1960 (4) 2160

In AABC, ZACB =90° and CD is perpendicular to AB. IfAD=4cmand BD =9 cm,
then CD = :

(1) 6cm (2) Sem (3) 3cm (4) 8cm

AABC &*, ZACB = 90° 0050 AB S CD woworr &od. AD = 4 0.00., 00050

BD = 9%0.5. eond, edyd CD=
0 s (2) 5wo>
3) 30, | (4) 8o

__-_-—'-___________,__—
‘-—-______‘_-_—-_-—_
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42. Ahollow cylinder with diameter 6 cm is partially filled witt

e Booklet Code .
Al 4

) water. A sphere of 3 &
ater, then the wags, i <

diameter is gently dropped into the cylinder. If it 1S immersed 10 W
the cylinder raises to a further height of

(1) 3cm (2) 2cm
| 1
(3) 4cm (4) -icm
6 0.2, 7550 KA &8 &0 (hollow)m &) SrHoss’ Sodwrio MBS Jodzd soz

T )

3 ?00:51) &T’géoh“ ﬁ@ﬁ;ﬁ a8 ﬁs‘?"nna)' Béjéan'u &s “6‘3_:5095535 &ﬂéaéaﬁdl =] ﬁ’%‘o cﬁgc.u._, 5
NES® Jom SRS $nHos®) A Higos® 5T DS

(1) 3o.. (2) 2%o0..

(3) 4%0.2. (4) %“‘:’ao.ﬁo.

43.

" A hollow iron roller of length 63 cm and having girth 440 cm has a thickness of 4 cm.

The volume (in cubic cms) of metal used for making it, is .

& (hollow)m &8) &8 ') Fob &), FEY 63 Do.du., & DiépFod 440 ok,
508050 £00650 420.20. T Exrds GIRFA0NS SEY 2585 @o (B Bo. o)

(1) 116740
(2) 108412
(3) 107712
(4) 105692

A solid cone of height 9 cm with base diameter 18 ¢m is cut out from a wooden solid
sphere of radius 9 cm. The percentage of wood that is wasted in this process is

0=50.5s. mgc—ygo £0A% 3§, &° Bobald Ao Hod 18 Ho.. = T80, 9 o.M,
I SRS ol K8 Fo%H B, SOV, & RS SFWS 3, Eod, vt
am 5 2) 67
3) 65 s (4) 60
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45, Two pipes can separately fill a tank in 20 hrs and 30 by respectively. Both these

pipes are opened simultaneously and after the tank is %rd full, a leak develops in the

o ,
tank through which grd of water supplied thereafter by both pipes gets leaked out. The

total time (in hours) taken to fill the tank is

Joth pYwo BB w¥ FFSH SGIT 20 fobos'r, 30 Kobes™e JodLS,
-l . | - 1 |
& Do VYD 23F0 BEAS SH>S 525 o0& & Qo88Hyd, FTS* WES OF S

® B0k DY T & SHTE Hohed DoH2ES VS %;’s 508 A achiodH IFEod.

WoSE & & 0858 ::Eg Iwgo 50 (Hoteres®)

(1. 18 ), 16
3) 15 4 12

46. A pipe can fill a cistern in 12 minutes while a second pipe fills it in 15 minutes. But a
third pipe can empty that completely filled cistern in 6 minutes. The first two pipes are
kept open for 5 minutes initially and then the third one is also opened. Then the further
time (in minutes) taken to empty that cistern is '

2§ D3 B 28 DD 12 DTS, Bodd D 15 AWIoS D JodHiiwd. 57

Sxrg5 DR Dok 65%) & A §F0 6 Do’ o? Voo, B SoBao Bodks .
ol BEDS0DS § AT SHIE HrES D $rE BOTD. © FY 5P SITIE

WS 9 dPobo (WSoT0S): '

(1) 30 _ (2) 40

(G 45 | L @ %0

47. Suresh’s income is Rs. 40,000 per month. His income got increased by 8%. Simultaneouslyr‘
his expenditure is increased by 12% and his savings is decreased by 4%. His initial

saving (in Rs.) is

RI0Q BnE), Brroo I &, 40,000, w8 waraho 8% DBAIL. O3 J00%0S* ©Ed
pdeo 12% 200, FEHPY 4% SASH. 08 Food DS FHOY (ErrohHos?)

(1) 10,000 (2 9,600

(3) 9,000 (4) 8,400

B S —
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48. The milk and water in vessels A and B are in the ratios 4:3 and 2:

E Booklet Code ;@

3 respectively. The ra
; 3 B ; inqnew mixture in an em ¢
in which the liquids in both vessels are to be mixed to obtall pYy .

vessel C to consist of half milk and half water, 1S :
A 58050 B Fgus® Sen 0805w ey ot AR)Eeo 380 :
TS’ fo BT 78 Mg CS* godm 5B) S8 3)@’3‘33?&5‘ Eﬁf‘io bdi, Q0 ey
GodIBIY), & BoredH Sodleds RE:

(1) 84

@) 75

(3) 43

4) 23

o 43 508050 2:3. $ 30, |

Mhe average marks obtained by 120 candidates in a certain examination is 35. If the

average marks of passed candidates is 39 and the failed candidates is 15, then the number
of candidates who passed the examination is

8 2 56§ 06 120 5006 oigho g, Sréyo Bk 35, TOS SHHTS e
Sr&yo Sitn 39 Sbddhs S0y eghe Srdne St 15 vond, @ $65S° ¢E5HBS
ese;fsdqa)a Jopg ’
(1) 85

@) 90

3) 95

e 100

50.

The sum of 5 consecutive odd numbers is 195. The second lowest number of this series

_is 5 less than the second highest number of another series of 5 consecutive even numbers.

Then 65% of the middle number of that series of consecutive even numbers is

5 $60% B Sopge Indo 195 & FBS™ BodS €Y Sowg, 5 Seoid d8vomgen fo
36 @80 Dok 1By Sowg $08 3 K93, edyd @& SKY Sodonge FBStD S

Rompgd® 65 Tdo
(1) 24 2) 22

(3) 25 | - . (4) 26

16-A
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study the following diagram and use it to answer the questions from 51 to 55. The ‘Pie diagram’
given below shows the distribution of land to vatious fooq crops.

808 D00 ©FEaRCHR, O SHAErAIR 515008 55355 Ke RHodH sTwess ochob.
oS BT "5 50", 2D 5 Jow o5 BLPONODS Brdd HrOFed.

Sugarcanc

Groundnut
Ifett 2

}/l‘ he percentage of area allocated to Jowar and Vegetables put together is

%) 0000 Erdmohess 0D $eronods Srd TEo

r (1) 50 | (2) 35 (3) 30 @, 25

’$). The ratio of the land allocated for Paddy to the land allocated for vegetables is
30 H08E0 $Er0000N grdod, Erdmohe Hotd $eranodd s Ke ]

/-(1) 7:3 @), 14:9 " (3) 5:9 @ 7:9

5%3. If a hectares of land is allocated for Cotton and b hectares of land is allocated to

a
Groundnut; and if T k , then 6k =

58 Sotks a TTHe I, BOIIA Bobks b IrTHe K Trenoms. %: k

s

o~

®wond, 6k=
1} 5 @) 3 (3) 2 4) 1

,Z»if the land allocated to Vegetables is 120 acres, then the land allocated to Wheat
(in acres) is
Srdmabe Ho08d 120 8T 00 BeronT, FEdd HobE Sironods ¢drd (MEoe’)
(1) 140 - (2) 150

@) 155 (4), 160
\“"‘-—-—__
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55

 then the land (in hectares) allocated for Paddy is

_A:l] Booklet Code :@

allocated for Jow,,

d
If the land allocated for Cotton is 200 hectares more than the lan

- 8, 38 Soty
%) Hots KB (58 Dotk Franods grd 200 THD DB D02 Sotag,

3ro00dS grd (TSos’)
- (1p 2800 (2) 3200

(3) 3600 (4) 4200
: I

To answer the questions 56 and 57, read the following information and choose the correct
option:

56 08050 STRHOK 2o ToD @8 §od JXreor) Dda) 908 2F™J) JoDE BT S0s

56.

‘In a group of five persons A, B, C, D, E

(i) B and C are bright in Mathematics and Geography
(ii) A and C are bright in Mathematics and History

(iii) B and D are bright in Politics and Geography

(iv) D and E are bright in Politics and Botany

(v) E is bright in Botany, History and Politics

A, B,C, D, E o3 okfd Sgiien fo o S0 aios’
(i) B %0805 Cen Addd o, dridago8” Hlssard
(i) A 506050 C oo 538730, S8’ SESad
(iii) B $8050 D &0 o°z2d8 330, driengod” Hgsadd
(iv) D %000s» E oo ooadérgo, @gi‘goé‘ HEBITE
(v) E Sygago, $0@ $005 TadaTgos® HhiEEiTd

Who is bright in Politics, Mathematics and Geography?

Tad8 o, KBSTHo 00 AT g Sn0S® SBSad S50
(1) A 2) B 3) C (4 D

57.

Who is bright in Mathematics and History but not in Geography?
Srfirgost sow, HesETgin S0 SBBOS* H&TIT A D587
1 C (N E

B A" (4x B

1R-A
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58. All the faces of a solid cube are
faces into 125 identical cubes,
coloured faces, is

GET ITON
Google Play

Booklet Code : A

painted with yellgy, colour. If this cube is cut along its
the number of such cypeg that will have exactly two

w8 g Wdo oy, vy dngress DY dot B, S 125 36 508
DT A Sopive Towd JFLods, OLT08 DaTod, dofk Fohwds Swgre

SE)Bom Bots SrEd Ko dore dopg

—

in the following figure is

(1) 12 2) 4 (f.pl g

@) 36

y/’ The exact die among the following options that can be obtained by folding the sheet given

§08 anB2dS pYFreS® 6 BRHSS SAES DB D TS Skt aor ©fol

SO FDE

Y,

(1) | (ZL_ (3)

w'fu‘.'

O O
D) 0
. W3
“4)

60. One of the hidden figure, in the following figure is
3 & 808 HErd0S’ o853 &) a8 D80

1) @) " 3

“x

19-A
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rule?
ts Sldcs one ata time and lh{; {

time.

Which one of the following options follows the given
on losing i

Rule : The closed figure inside the first cell g0¢S
ts Sidcs oneé ata

open figure inside the first ccll goes on gaining i

BIHSS ad 2D)FOS” 8E J0FEK 300088 A6?
D208S 1 BNGEE KESD Dosys Hlo, S6SE 28 T o d) g'ey0d Ddaiy

3068 KBS DB)E Bbo SESE 58 Fays W ©F 2055000

NS EE)
o IOIOIEIE
o (GO
o QI

62.

[FAXB =A2—B2and AYB =A%+ B2, then the value of (9X6) Y (8X5)
AXB =A% — B2 58050 AYB — A% + Blwond, (9X6) Y (8X5) Swg), deod
(1) 3645 (2) 3546

(3) 3456 4) 6345

63.

of numbers in the following sequence, each of which is immediatel

The number
a consonant and immediately followed by a symbol is

preceeded by
& (8o @R’D@B’»oé’sﬁ) 50@50‘25'5 o8 é.?:ﬁ)o 5&)063;591 Fl0est 2.8 A’J‘Q%?&J‘ 0803
stemo So56 ot o Soied) 838 Howgo Song ot SOE

B —
R*TIL25D-M#8C%B<KLEAWIPEZQ@TE6

1 1 @ 3 3) 4 @), 2
; -]

e

20-A
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¢4, How many COnsonants are there in the following S€quence, each of which is immediately
preceeded by a consonant but not immediately followeg by a symbol?

Bod BiHESooest ¢ Ty Qof) EHe0 003 FEost
Loty Tl0e*® 2.8 Hodgo S Trenod A)? |
N8J*4w1U%K2#@7QIT3 APADSER

(1 1 2), 2

3 3 @4

T Gobwr, T SE@o

In questions from 65 to 69, a sequence with one blank is given in each question. Identiliz{hﬁ
correct answer among the given options to fill that blank. h

65 000 69 565 Ko WHVSV P8 PHT'Q oDEDS S 2.8 0@ e 2Sc0808. & ETEO Y
FOOBETIE S oY Kood 138 9508 HBoed, ‘

6.25

65. 448,220, 106, 49,
(1) 175 (@ 205
3) 12.5 (4) 925
66. 7,(151;;51_?315,
(1) 351 @ 417
(3) 513 (4) 619
A WA s B PN
g 1412%45@ 136, 131,124,127,
) X = @) 125
(3) 123 (4)g 122
6. ACD,GHI,_____,UVWXY
(1Iy 'NOPQ™ ~ 2) KLMN
(33 MNOP (4) OPQR
g9/US§. 001:1. MKJ, __ ,ECB. >
e o
_ o o @ &

M_A
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In the questions from 70 to 72, in cach question, (hete
definite relation between the first two cntries. The sam
and fourth entries. Fill the blanks with correct option.

70 $08 72 555 Ko HHOS* $B ©HS S 4 woTed
2.8 AS Vowogo womrd. wnSol Jowoldy S0, Felid ©

PO ¥OD sui'.}rbéoé‘ JB0W0h.

252124

GET ITON
Google Play

Booklet Code :@

cntries and there must b,

c4
must b Iso holds between the thgg

¢ relation &

om® $00050 TFood Tod WOTL Sy
o S0¢ig ST trotiog,

70. 6
(1) 146 ©) 164 (3), 215 @4 175
71. KNQT:MQUY :: ADGI
(1) DGEF @ MPVW (3) BEHK (4) CGKO
72. Ample : Enormons ::
(1) Cat:T_iger (2) Warmth : Frost
(3) Stout: Lusty (4) Rich: Prince
DB AT
(1) & : 84(6) (2) T@)>s : @Y
(3) 26 oY @ oS: S -

In questions from 73 to 79, every question is followed by two statements I and II. Make your

answer as

(1), if statement I alone can give the answer to the question; -

(2), if statement II alone can give the answer to the question; |

(3), if statements I and II together only can give the answer to the question and

(4), if statements I and II together also cannot answer the question and additional information

is necessary

73 oof) 79 558 Ko BHS', wb BF) TS Fin Jod RIS I, I xams,

©5550 12§ 8 Sr@d @HS 23S0, (1) v,

H5550 [ 288 SrEd BHH 2T DHKONS,

(2) »&

Bisaren I, IT eo Bodr 5% 27035008, (3) o;
B3Seo I, Il oo Bodr LODa, 506808 ddrirdo &ol e‘if.')b), aTDSTEFE, (4) 0d,

SSpgrsomr adged.

22-A
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73. For real numbers a and b, is |a] > [b] ?
RS Domgen a, b ok, |a| > b| wheT?
D) a>b
(I a=b

P

74. s n exactly divisible by 1207?
()  nis the product of five consecutive integers
(I) & 1s divisible by 6 and 20

na 120 R)ég?’qom 2 ABYOE?

-

() 73> 6 5085w 20 20 IFHRom erhd;on

D) 28 5% Jroose ogo n

75. What is the area of A DEF?
() D, E, F are mid-points of the sides of AABC
(I) Area of AABC is 10 sq. units.

ADEF 37ogao08? Y. .
() D.E,Feo AABC ghere G308, 20655 DoddYeo
(I) AABC 3zogo 10 %.0070e

76. Ifa, =3, what is the value of ag ~a; +... T a7 ?
(I) a,=3ay,for[£n<7
(1D an>0,for1£ns7
a9 =5 wond, ag+ay T ... T 37808, Jwod Jod?
() 1<n<78 8,738,
() 1<n<78 2,>0

77. What is the profit percentage?
. () The cost price of 8 books is the selling price of 6 books

(II) Each book is sold at Rs.72
C ergrEos?
1) 89gTe 5% 30 698F0 edys Jog srdo |
D) ©e P35 D. 728 wdy>

23-A
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]
dx
78. For x,ye Z, what s the value of 4x*y———7

3
X,yeZ §, 4x3y—ff_ DeS Noe?
y

I. x=2
II. jy2=4

79. How is A related to B?
(D  Bis the brother of C and-C is the son of A.
(D) A is the husband of D and D is the mother of B.

B§ A& do Sowodo D897
() Comog wrestiod Bissooko A s, ooy C.
() D 5y Aok B swg), $9 D.

In questions from 80 to 82, Every question has two statemenks labeled as Assertion (A)an
Reason (R). Choose the correct option from the following choices (1), (2), (3), (4). Give yo

answer as
(1), if both (A) and (R) are true and (R) is the correct explanation of (A);

(2), if both (A) and (R) are true but (R) is not the correct explanation of (A);

(3), if (A) is true but (R) is false and

(4), if (A) is false but (R) is true .

80 So0d) 82 56% Mo RHUSW P8 RHSEr, PSS (A) $850 S R) &3 3ot
BISTed . € Bod aMS adysten (1), (2), (3), (4) os* RBADS TAN JoH¥ Bosot

D dSrerdo
(A)p520050 (R) &9 Dodr 5o 50050 (A) Gk, 385 3560 (R) wand, (1) o&;
(4) 20080 (R) &0 Dodkr $85:50, &0 (A) g, 306G D56 (R) s (2) wd;
(Ap38gsn, 527 (R) wddgsn wong, (3) e;
(A) 9b8550, 50 (R) Sdgsn wa08, (4) €d; asob.
80. Assertion (A) : India has a tropical monsoon tyi)e climate 1

Reason (R):  India is located exactly between the tropical latitudes

DG &L o (A) @ rdEBdo sydobe DHISS s508 Dol TSI ]) §9A erono!

80 (R) 8880 ﬁgéooév YErodS0e 5063&5‘ 831’3‘)60”‘ SR
—_ -

A4 .
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Assertio ; :
8l. 0 (A) : Food materials should not be Soaked in water for a long time

Reason (R) . Washing leads to loss of Vitamin A and vitamin D from the food stult
IHBE50 (A) : 83 ST IFS 950000 MES* FEBYErE
5820 (R)

P 8Eihe, omomdiny $08 LN A S0cks LS Do @ns),
S8 T08:%00

82. Assertion (A) : Red colour of blood is duc to hacmoglobin
Reason (R)

: Haemoglobin is a red pigment
HBE50 (A) : F5S508% & Soib TIHFDS So 0008
58000 (R)  : S-S wf JYD 5§05 (o)

In each of the following questions from 83 to 87, find the odd term from the given choices and
write 1t as your answer.

83 5000 87 558 Ko (58 HHSH, 58 pYFOS* SEFOI T SHEYLY, TAD L SirErIom

oood.
83. (D 'Eggle[ (2) Peacock
(3)¢ Ostrich (4) Hawk |
(1) &as (2) dF
() @w (4) &8
84. (1) September (2) May
(3) June > . (4) November 27
(1) 2Road 2y
(3) = 4) ééo;md_)_
85. (1) EJO (2) il)\a;r{
4 2
; (3) ].)_EN\U ( }’ '
86. (1) 273 2 133
: (3) 155 @) 221
87. (1) 6°¢ (2) 20
(3) 42 @ 74

25-A
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_ _ turns left, walks 30 meters,
}( Anil walks 20 meters from his schoo| towards North. He ﬂ:}f:land walks 40. meters. The

again turns left and walks 20 furns Tg e
: meters, He then ; is
nearest distance and the direction from the school to his present position,

(1) 50 meters, North @) 70 meters, South
(3) 70 meters, West (4) 50 meters, West
Joeh. Saees S Q&S0 BP0 8y

88 S0 $00d WS Gdto 3% 20 Hobdy SGD
30 o8 58, Sde ocs;a;;_%m aon 20 OVERTeS) S @
83955 80N 40 Dobod Grdo Sesdndo. B0 $00 B8 28
520082 BF 20 ~

é_d:aré add &3
8E o §f{)?o;1 B8

2) 70 doedy, B8O

(3) 70 (@) 50 Dowadly, H&DY

89. Sunil is facing East. He turned 100° in the clockwise direction and then turned 145° in
/ the anti clock wise direction. In which direction is Sunil facing now?

(1) South East (2) North East
(3) North - West (4) South

06 o) 35 VDS ST, 88D (BAREOS Sovges 851 B (35508
100° 884, & S&Hard eddsg HFS* 145° 80md. qdyd NS 2 BIRD whHlopon

& &?
(1) eiodo (2} &7dg0
By Todndge (4) &8eso

}IL/I% ; I(ﬁfgla{g :::{)i;ltz, if:ngLE” i.s coded as “TVXGZMTOV™, then the code f
o 25 £56° “‘RECTANGLE"® ‘IVXGZMTOV"rm £ &%, crest “SPHERE"
§'6 - &
(1) HKSVIV (¥ HTKVIV
(3) HKTVIV (4% HKSVIV

—

In a certain code, if PINK = 50 and RED =27, then BLACK =

91.
w8 293 §60° PINK= 50 $200%0 RED =27 w8, wiyd; BLACK =
(1) 41 2) 32 "
4) 28

(3)e 29
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Al

apple is called gry

Jooklet Code : A

Pe, grape is called mango, mango is

fruit? ava, which of the following is a yellow
(1) Mango
3 G & (2)  Pomegranate
AP (4) Guava
(B0 wobmitr, etbis ggmis, EE2 Brinbirite, 5pmbd GGy TER, TS

P L v Y 4, B w
DTN BT, BTG HEsdCutty Hods d6?

(1) O LRRY) (2) CJ’EJ::J&J

9 &8 (4) s

the code for COVALENT is

/ In a certain code if SILVER is written as MITSFW and FORM is written as P(ﬁﬁ@m%l’

COVALENT & &6
(1) BPWUODFM
(2 BWPDUOFM
(3) BWPUDOMF
@) FMBWPDUO

2.8 KJQ‘? 8'Ga* SILVER & MITSFW iz 52605 FORM 5 PGNS i 075, e9dvedo

94.

If'DECK' is written as QRPX in a ccrtgl code, then the code for LIM:E(ig{ v\
w8 DBZ g&a* DECK & QRPX m TR, @33 L%EE §&

(1) VYRZ 2) RZVY

(3) VZRY (4) YVZR

95.

A man said to a worsa; "The only son of your hro% the brofher of my wife(, Then,
that woman is related to the wife of that man as .

(2) Sister

(1) Aunt

(3) Mother (4) Grand mother |

ok 558 b Q9" “By FEDE B8 LJ}_’f bodrbrds o opdy BNE, FEE” @T.
Wy, & égg o 558 B0, 705" o Howodo o
( l;a &9 BE BoG B0 260 (2) #eo

(3) &9 (4) oSy B SRSy
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; efully and answe,
; rmation caf the
Directions to questions 96 and 97: Read the followiné ik

questions 96 and 97. - 1o those W
A health club gives 50% concession in their subscription

following categories. i’
(i) ~ Children of age between 5 and 12 years from 10W in

(ii) Females upto 25 years of age, who represent 10 8
(111) Senior citizens of age above 60 years.

(iv) Physically challenged persons. belong to any of the aboy
The candidate will be referred to the secretary if he/she does not

categories but donates blood once in a year,

Mark your answer as
(1), if the candidate is eligible for concession;

(2), if the candidate is referred to the secretary;
(3), if the candidate is not eligible for concession;
(4), if the data is inadequate.

ho belong to any one ofy,

oup-
es rz?ndgsfports at national leve]
am

96 r8ckn 97 FHOSH FrSI ¢ E0d JSrTOY FEET F6D, 96 $0a50 IT BHok
NI R Nc0d. 28
Bod STz’ 2 of) TIFT BodS 08, 2.8 uré'éeﬁ' (Health Club) o 750:‘3‘65 50 o))

c‘wérr‘ 23008,
(i) SoYTHITIE BodS o6 HeBdinod 5 Hedkn 12 ‘ooéé‘yz‘o 53:55 S0 HoTdh.

(i) =805 Fons® sben, Lééu& 8850 S2r0B, 25 HodgTre Sa5B) SEEP Ko lé":'w‘
(i) 60 Jos)oren DdS SArJyEe.
(iv) Derorhen (Bagoren)
8 &%) Sqrod® 308 BosEFenT, ©Sd/e J05ETIE LB EEmrto Th, « @250
5°850) Kyné B :
D JIrFT ;
@2558 oro0&8 98, Bone, (1) e~

g8 58560) Syas &R, (2) ™l
SLINe) oron&8 @:Sdgs,céoxé, (3) ms;
Serodo S62r83, (4) mRr adgod.

9. Anthony, who is about to complete 60 years, donateg blood once iy a year

60 SoSS e 8 B406%5°GD WofR, JoIHr g 2830 S¢mrso Sarcts
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97, Aetgs .
Ditha i 5 national player in Table Tennis. @

8 e
WO BYS s w38 0.8 wdosH B0,
L

) Ive 1 e B 1 . .
1 below are the different positions of a dic. The number (hat comes in e place of X is

¥ <
F0E RBug) IH) R & BKIZN 0035&R. X ioe’ S8y dong

4
X 6 A
2
3 4 6 | 5 | A 3 ‘
I 11 11 IV
(1) 3 2) 5
Gy 2 4 1

Read the information given below and answer the questions 99 and 100 PY 4
qits

A, B, C,D, E, F, G and H are eight friends sitting around a circylar table [acirfg (}wzl)tl
centre as follows: . '

(1) H is on the immediate left of A but is not a neighbour of D,dr Fe>
(i) F is on the immediate right of B and G is a neighbour crfﬁ,(Y

(iiiy Cis in between E and F

E0B HEFToR) SBD 99 $H00%0 100 GHok SErETOIEa

A,B,C,D,E,F, G Hod 8 £08 doghe, a.f §g:5°¢ 2ot Soidllspispor
& Bo& JFom Erdyyando:
(i) A D83 55393 H eaido, ©ond v D& Bor E & r&HKS 8

(i) Beg3 398 Fead $00 ES G otatots

(i) E %0050 Fo 5855° Comy@,

)

99. The position of D is
(1) Onimmediate left of B ' % - M
(3) On the immediate left of‘ @)\ Betwcen B and F
D G308, g“éo 4 ‘
(1) B8 g 8IS (2)F & $:8358 Doy, /
(3) A% BHS DI (4 B:00%n Fo 8

o
29-A
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A

100. Which one of the following is true?
(1) Eis between F and B
(2) Fisaneighbour of G
(3) Gisinbetween Hand E
(4) Hisbetween Aand D

& (§0d TIS* 20 HEgHN?

(1) F&0csn B o Sodges” Eém:lm}ﬁ
(2) G&ng, uf Fhiad FN

(3) Hooosn Eo Hgg G esandon
(4) ASbcsn Do Sogg H eramio
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